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ool MEs JluEs (el @2
SA B HRA(SH) - MRAY - B O & o4 o1& o HREZ
FESALA DL 11,198,117 9,785,984 1,412,133
= 4,072,868 3,500,455 572,413
S 7,125,249 6,285,529 839,720
SHAEA ZSRS (LSS SHT/JPAE) 11,125,217 9,707,984 1,417,233
= 4,072,868 3,500,455 572,413
& 7,052,349 6,207,529 844,820
dE3 JIgtxH 3,284,093 2,799,643 484,450
= 2,057,000 1,800,000 257,000
L= 1,227,093 999,643 227,450
SSRAEB3 A2 31,850 34,000 22,150
201 LetHH| 25,850 28,000 22,150
01 AtSR22/Hl 15,850 18,000 A2,150
O et=ZH| 5,400 6,000 A600
OSSR T (0142 2)
Z2& 5,400,000 5,400 6,000 A 600
O=2g=¢ 10,450 12,000 A 1,550
OFDEHDSAANE(HAR)
2 & 10,450,000& 10,450 12,000 A 1,550
SEWHAILAIAE A= 270,000 300,000 230,000
207 HFIHEHI 270,000 300,000 30,000
02 MAHEHI 270,000 300,000 230,000
ORQUHAYAI AL 2= (AR )
Z3 270,000,000 270,000 300,000 A30,000
NAEHBEXI| 2 H &l =8 152,700 203,000 250,300
201 Let2d| 2,700 3,000 A 300
01 AtE22(Hl 2,700 3,000 A 300
O2d+¢ 1,700 2,000 A 300
O& A== (0l &rE 2) 2% 1,700,000 1,700 2,000 A 300
207 ALK 150,000 200,000 A 50,000
01 A& 150,000 200,000 250,000
SR ET-CEE S BIESTERRITINEED)
Z & 150,000,000 150,000 200,000 A50,000
7HUFAEHA =S4 XE 140,000 100,000 40,000
207 A RIONEHI 40,000 0 40,000
01 22E S| 40,000 0 40,000
OBAEEFSE |TR0FS S A 40,000 0 40,000
23|t e FXZH| 29,900 32,000 A2,100
201 LBt 3| 9,900 11,000 21,100
01 AtS 22l 9,900 11,000 A1,100
L1 Et==EH| 7,400 8,500 21,100
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E: QUFEHA ST (YNTTYT /L)

& F23 JIgtE S (ctel: &
SN CR(EH) - NRAY - BES 0l & 24 01 o BlnE2
OSZ2DHAL HE MM Z (0l & B 2)
Z2& 3,900,000 3,900 5,000 21,100
202 O4Hl 19,000 20,000 A 1,000
01 =Gl 19,000 20,000 A 1,000
OF SISt L =X (0l &tE 2)
Z & 19,000,000 19,000 20,000 A 1,000
sHEXNS 2 XY 25 514,000 0 514,000
= 257,000 0 257,000
= 257,000 0 257,000
402 SI2HHE01& 514,000 0 514,000
= 257,000 0 257,000
L= 257,000 0 257,000
01 It EEX 514,000 0 514,000
OsHEXNS UL NSRS 514,000 0 514,000
= 257,000 0 257,000
= 257,000 0 257,000
2z 22 IPTV ROXI (I E X H) 15,000 0 15,000
307 BI12+0l & 15,000 0 15,000
02 2ItAANSE X 15,000 0 15,000
OJIPTVOICIH 2= 218 2 S 15,000 0 15,000
FADNPNR=IPSE =] 5,423,463 5,100,193 323,270
= 1,353,361 1,349,991 3,370
= 4,070,102 3,750,202 319,900
ZFH E AMRII B2 450,000 300,000 150,000
405 AHoHESHI 450,000 300,000 150,000
01 ML ESHSHI 450,000 300,000 150,000
CIPCH AR 2 & 450,000,000& 450,000 300,000 150,000
CHURNAANLE 2 658,000 708,000 50,000
207 AN 160,000 200,000 240,000
02 & &0l 160,000 200,000 240,000
OgEgLSS/MTL (M2
Z 3 160,000,000& 160,000 200,000 240,000
405 AHeHESHI 38,000 48,000 210,000
01 XYL SSFSHI 38,000 48,000 210,000
OUPSEE X WAL & 28 ST (0l AHE2)
Z & 38,000,000 38,000 48,000 A 10,000
ANz HZEE D&s F4 1,353,361 1,349,991 3,370
= 1,353,361 1,349,991 3,370
403 XXM SA=01H 1,353,361 1,349,991 3,370
= 1,353,361 1,349,991 3,370
01 RXSHMA2E = 1,353,361 1,349,991 3,370
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ool BINYHE 7 (el &
SN -EHH . (B) - MPAY - BE2 Off &F oA [ =)e bRz
ON2TS#EE SN AL 22 D
A 150,958,002 150,958 147,588 3,370
2 150,958 147,588 3,370
NEANZTEYYSAAHRK 672,302 423,302 249,000
405 THAHE St 366,000 117,000 249,000
01 RAUSEH S| 366,000 117,000 249,000
CORTE B EUPSAI A B E 21 (109S E D2 Al
100,008 &) 250,000 0 250,000
ONERHESAESAAS RS GERNH 2L
(O a2 2 16,000,002 16,000 17,000 A1,000
NEXHESANCHEHSBALAB DS 43,000 45,000 A2,000
207 1Tty 43,000 45,000 A2,000
02 F ANy 43,000 45,000 A2,000
ONENSNZSHEBAAL TS 43,000 45,000 A2,000
ONSH&TYYAILR (K AR 2)
A 24,000,008 24,000 25,000 A1,000
OB HESASIS/NPY (B E)
A 19,000,008 19,000 20,000 A1,000
=EBENEIEPNEEE 13,350 15,000 A1,650
201 2er2 | 13,350 15,000 A1,650
01 ALRelt] 13,350 15,000 A1,650
mEEES= 9,000 10,000 A1,000
ORSIW(AIE HAB)HLS(HME)
A 4,000,009 4,000 5,000 A1,000
BEEER 4,350 5,000 A650
OO H DS LA LS (0 AR 2)
A% 4,350,009 4,350 5,000 A650
S8y 29 447,800 448,000 A200
405 THAHE St 1,800 2,000 A200
01 XML SEFHSH) 1,800 2,000 A200
ORHEDY (A=) 2 1,800,002 1,800 2,000 A200
RN 1,674,000 1,694,000 20,000
405 THAHFSH] 330,000 350,000 20,000
01 MMUSEHSH| 330,000 350,000 20,000
OUES B DA (0 AR )
A 330,000,008 330,000 350,000 20,000
SsAMIY 29 59,000 63,000 A4,000
201 2er | 59,000 63,000 A4,000
01 ALR2lt] 16,000 20,000 A4,000
Dgxe 16,000 20,000 A4,000
OFQUANTSSEUILTR(MAED)
A 16,000,008 16,000 20,000 A4,000
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ool MANYHE (ol m 2
SH-EH . S2(30) - MRAY - BES O] &b o4 I HRE2
BN YHERE =AY 52,650 53,900 A1,250

202 (4Hl 19,000 20,000 A 1,000
01 =AY 19,000 20,000 A 1,000
DRIASE LD E 0] (0 A=)
Z & 19,000,000 19,000 20,000 A 1,000
203 ¥R =&l 2,750 3,000 2250
03 AIMZ=XHSZ=EH| 2,750 3,000 A 250
D@X+X|gg$$i@$$&(o¢|&§a)
& 2,750,0002 2,750 3,000 250
B SMAIAE D|BtES 272,900 256,500 16,400
B AAE 2ot 250,000 230,000 20,000
207 A0 22,000 30,000 8,000
02 &N 22,000 30,000 8,000
CIBoI2] At Al el (0 A R D)
Z2& 22,000,000 22,000 30,000 /8,000
405 KH&HFESHI 228,000 200,000 28,000
01 R LS EFSY] 228,000 200,000 28,000
EEETEREEEEE 30,000 0 30,000
CIAVOI b & SH CHS 4 B & B 2 2 (O A 21
Z & 198,000,000 198,000 200,000 22,000
FESMAIAEDIBIES =& FH| 22,900 26,500 A3,600
201 LetEEl 12,900 16,000 A3,100
01 At 22l 12,900 16,000 23,100
TN Y 9,900 13,000 £3,100
ORUNAHS DI DS (0 4HE )
2% 3,000,000 3,000 5,000 22,000
OSEEILHSHAIHALRSE (0
AHE 2 2 & 3,900,000& 3,900 5,000 A 1,100
202 O4H| 9,500 10,000 A500
01 WY 9,500 10,000 A500
DRSS ARS8 0fHl (0 &4 E )
2 & 9,500,000 9,500 10,000 A 500
HE AR off & 2,144,761 1,551,648 593,113
= 662,507 350,464 312,043
= 1,482,254 1,201,184 281,070
HH0IBALE X 439,700 441,000 A1,300
201 Let2IH| 19,700 21,000 A 1,300
01 AtE22/Hl 6,700 8,000 A 1,300
O=2g=¢ 4,700 6,000 A 1,300
OZ A== (0l &R 2) 2% 4,700,000 4,700 6,000 A 1,300
dEs0IE2d =15 126,800 127,000 A 200
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ol EEAX oA (&9 HM
DA - E - SSI(B) - MIRAY - BAS aou o) o =5

201 LEH2HH| 1,800 2,000 2200
01 AtS2t2ibl 1,800 2,000 A 200
O Et=ZH| 800 1,000 A200
Ouisas(oaaz) Z & 800,000& 800 1,000 A200
FEANLELZSA I Sl ALY 762,741 450,128 312,613
= 537,107 225,064 312,043
< 225,634 225,064 570
201 ZetEEHl 250,068 250,498 A430
= 125,034 125,249 2215
< 125,034 125,249 A215
01 AtR2telH] 250,068 250,498 A430
OE2=2MEIS Z& 5,398,000 5,398 5,154 244
= 2,699 2,577 122
S 2,699 2,577 122

LS OPCEHIHE A EEHHI
ZE 242,170,000& 242,170 242,844 ABT74
= 121,085 121,422 A337
S 121,085 121,422 A337
202 Oddl 5,373 2,200 3,173
= 4,273 1,100 3,173
< 1,100 1,100 0
01 WY 5,373 2,200 3,173
OusI|2LL=lSHHEH 2,473 0 2,473
= 2,473 0 2,473
(eIHYSSA4E2E8II22I3H 0 700 0 700
= 700 0 700
301 LEt2AS 343,500 197,430 146,070
= 244,000 98,715 145,285
= 99,500 98,715 785
01 MaIE2EH 263 195,000 193,430 1,570
OF3ESMEXRII|7L Z& 195,000,000 195,000 193,430 1,570
= 97,500 96,715 785
< 97,500 96,715 785
10 AL HIE &= 1,500 1,000 500
ODESAX N A2 NS S o &4 500 0 500
= 500 0 500
12 JIEtE o= 147,000 3,000 144,000
O Y2 u=8SH| 600,000& »230H 138,000 0 138,000
= 138,000 0 138,000
O E =20/ SHI 25,0003 240 6,000 0 6,000
= 6,000 0 6,000
307 GI12t0ld 163,800 0 163,800
= 163,800 0 163,800
02 2lt3aEX 163,800 0 163,800




SA: HESANAD
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HE: SUIFEA ISTH(YUTTYT /AN BF)
CHol: MEAR oA (erel: @ 2
SN EB -GS - MBAY - BES 0 & 24 p/E-T" {imE=Eh
OXMHAEESEEStFI| 2 X3
15,000,000 8K 7| & 120,000 0 120,000
= 120,000 0 120,000
ONESHEIEsISI| 2N
3,500, 000& =44 J| 2 14,000 0 14,000
= 14,000 0 14,000
OoleusS=s4Eg)I2XE3 29,800 0 29,800
= 29,800 0 29,800
e-dA&SE DNEIH P 9,000 10,000 A 1,000
201 LEH2 | 9,000 10,000 A 1,000
01 AtE22/Hl 9,000 10,000 A 1,000
O=2g=¢ 6,000 7,000 A 1,000
OZ A== (0l &R 2}) 2% 6,000,000 6,000 7,000 A 1,000
02l (Zoom-in)&= 75 300,000 0 300,000
307 212t01& 300,000 0 300,000
02 QltFAE X 300,000 0 300,000
Os2l(Zoom-in) @SS 300,000 0 300,000
S 0= & E35 SHOX 2 15,000 16,000 A 1,000
201 et 15,000 16,000 A 1,000
01 AtS 22l 4,000 5,000 A 1,000
g Et==EH| 4,000 5,000 A 1,000
OHAHOIZSAZE 2L (0AEL)
Z& 4,000,000 4,000 5,000 A 1,000
CHEEHOXNS EZAS 190, 100 204,000 A 13,900
201 et 3,600 4,000 A400
01 AtS 22/t 3,600 4,000 A 400
g Et==EH| 1,600 2,000 A400
ORIMA M2 S(HAMEL)
Z& 1,600,000 1,600 2,000 2400
207 AN 186,500 200,000 A 13,500
02 & &R 186,500 200,000 A 13,500
Oz SRS SHE SN S(HaEZ)
& & 46,500,000 46,500 50,000 A3,500
OEHELSSESHOINZHRR2 (M AE)
Z & 140,000,000& 140,000 150,000 A 10,000
HEAX oA FLFH] 29,400 31,500 22,100
201 Zer=g&l 9,900 11,000 A 1,100
01 AtR 22/t 9,900 11,000 21,100
O Et==ZH| 6,900 8,000 A1,100
OARETAYHHHIS (0 &EY)
2% 6,900,000 6,900 8,000 A 1,100




SA: HESANAD
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HH: SUIAHA ZSEFEH(LUBIHH/UUEH)
ol EEAX oA (&9 HM
SA-EFH - SA(SAH) - MREAY - BES Off &F OH JE A BlusZ
202 O 19,000 20,000 A 1,000
01 SUWAHYI 19,000 20,000 A 1,000
OFSAXHAZFEAHI(HAEZ)
Z& 19,000,000 19,000 20,000 A 1,000
Y2 BH(ZE2S AL D) (IIEHIIE) 72,900 78,000 A5,100
Jl=2&H| 72,900 78,000 25,100
Jl=&Hl 72,900 78,000 25,100
201 et 53,900 58,000 24,100
01 AtR2teld] 46,900 51,000 A4,100
Oget=3Hl 36,900 41,000 24,100
OJIZ2AREESFS (HaEY)
Z& 18,000,000 18,000 20,000 A2,000
OARELSELHI(HLEZ)
2 & 7,900,000 7,900 10,000 2,100
202 Oddl 19,000 20,000 21,000
01 WY 19,000 20,000 A 1,000
OZSSAERFAALI(HAEZ)
&3 19,000,000 19,000 20,000 21,000




